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1A fiz)= Ls,x—, then f'(z) =
%62 1 —-sinx
@ B9
1
(a) 1 =gk (correct)
—coszT "”(‘X] _("S"‘X) (-S4ax) — Coiv (o-i@i)
(b) b g v (\_S&nj(_)l =
(1 —sina) T ¥
) 1+ cosz ~Stnx —*Sifi‘:_ffi"‘_
(c (1 —sinz)? . (1= Sinx)®
sinx = S X
—sinx (\ - S'nx)
|
(e) l_cfix_ " \
—sinx ==
#13
; 2. If y = Az + B is an equation of the tangent line to the graph of f(z) = (z — 1)e*
9’)-5
at the point (1,0), then A — B =
(a) 2e (correct)
ol
(b) 0 Por = ey ™y 5 1
(c) e+1 B e el T R, ¥
(d) —2e / i
\pe ,r (xS 8 =&
(e) b
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3. If f(t) = tsint, then fO)(¢) =

(a) —tcost — 3sint
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(correct)

(b) tcost — sint g’(gz E Cost 3 Swt

(c) —tsint — 3cost
(d) 2tcost —sint

(e) t3 sin®t

fif/(-(-) .t (st

iy« kst wiGst e

:_L“Sin‘: +Q_ Cos €
‘S1r\t -Zsf‘”t

- -

& @st -3 ,";In_t

E mwfh‘( 4. The sum of the z-coordinates of the points at which the graph of f(z) = (3z —2z?)3
has a horizontal tangent line is equal to

$3.4

(a)g = (correct)
9 Heovyzondad '*”\Yﬂfr& =3 f'x)=zo0
b) = 2
((;g = 3(3x-2)(3-9x) =0
. 3 — ’31——2)‘1 —c @ 37“5? Te
s oy W Bg=an)re ~ S-x=p
(e) 2 .3 X e 3
- €W zey '.)C--—i / ‘1
3 .3
Sum e % F "
| e
2_‘ L]
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= 9
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¢ 34 5. If h(z) = logs (w\/a; ‘1)  theay e =
1
(a) In3 (correct)
In3 \
3 h(x) = \03 o A X 1,—_ N 2T lo_j 2
(h) e 3 3 3
2In3 ’ ‘ : t ;
i 2 h 69 - w2 &-)ins
) -3 | ‘
2 ((2 F e
(e)m h () 2 in3  2In3
e
in3
26, 2
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" 6 tale) = Py, then ) = 2 T2V
6191‘: ’tengx__ LA = P il
e (o
3
" %
2z — 23 axvi-xt* 0
(a) m — s (correct)
|-t
2z — 323 -
b) T2 ol S
s Ml S e
(c) €L g Ni-2t .
C V1-—gz? g }—?
-2z
(@) —
1—;::1: X =AX 4N
(e) (1-:1:2)3/2 e (l——ll)yl
%
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4y — 3z(z? + y?)?

(a)

—4z + 3y(2? + 32)?
8y — 3z(z? + y?)?
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7. If y is defined implicitly as a differentiable function of z by the equation

d
(2% + y?)? = 8xy, then -
dz

5 3 (IT_-\-jl)l.(lK-Q-Zj,jJ) 5 %x.j‘_rg'j

B —

N (correct)

(b)

—8z + 3y(z? + y?)?
4z — 3y(z? + y?)?

()

—4y + 3z(2? + y?)?
4y + 3z(x? + y?)?

(d)

—4z + 3y(z? + y?)?
4y — 3x(x? + v?)
—4z — 3y(z? + y?)

(e)

~, B

335

- bXx (3L1+37_)1 + 64 (xlﬂ“’-, 30 = ¥x 31 + 5y
\.@_/
t - AR |
=) [-— ¥ + G‘) (Kt-\-‘-“) J j’ = Sa.( - Gxix +—jl)

ST e . e 6x (X))

-

—Hx + 63 ()(11.\‘1)1

4Y - 3x (X2+11) g

8. If y = (sinz)™°»%) 0 <z < %, then ¢y =

(a) (sinz)™*% [cot z - In(cos z) — tan z - In(sin z)]

(correct)

(b) (SiIl x)ln(oosz) [

In(cos x)
: -
sinz

COsST™

In(sin :1:)]

(c) (sinz)™*?) [tan z - In(cos z) + cot z - In(sin z)]

(d) (sin z)™(*?)[In(cos 2) — In(sin z)]

(e) In(cosz) - (sinz

o

=S

'
J

N
‘.T

)ln(cosr)—l
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: jz'.( (ox) jm (50nx)

Cana /zy‘/'
f z ,Qn((om. = + 'ksi“x')"
SI(\X

-— S‘v\)-'

Co 5%

> 3/ > [C;&x « I (Cox) = Fanx -ﬂ.«(gmx)}
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pre 3%
| &5 & 9. The slope of the tangent line to the graph of

f(z) = zarctan(2z) — iln(l + 42%)

3
at the point with z-coordinate 5 is equal to

(3') § ‘ : (correct)

T fka : VL 4 Grdden (2w .| — L . & X
() § e |+ &x)* e YUyt
g 2%

3,7 < + arctan(@x) - 2
@ 5 |4y > | +4x

™
(e) 5 - arcan (l")

Sla()cz fl(g_) = Gﬂhf\(a‘g)
- acctm(VR) = &
~ #1585y

$ Y4 1
10. Let h(4) =3, H'(4) = =2 g(3) =3, 4'(3) = —4.

If f(z) = [g(h(z*))]?, then f'(2) =

S (correct)
LS /(Y) = 2 [30\ (7(2))] ’ 3' (})(x‘)) . ‘(\( (7(?') , A X
(c) —6 _ /

)12 f/(').) _a[3then)) - & (htn) W) A
(e) —8

/
4w s . q(3) Chwy oy

>y T
:&-—5‘ -Ll 8] o '1
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11. If y = Az + B is an equation of the normal line to the graph of the equation
ylnz + y? = 0 at the point (e, —1), then A2 + B =

\95._

-\-th.j“f'l‘j'jf:o

x

(a') =l (correct)
(b) 1 i -) + ) j’ _ '2_‘) =5

c) 0 ==

() e _ ‘_’),3 N

(d) —e =) O e, e

(e) e s Slepe ! N Naxmal Wne s c

12. If the length s of each side of an equilateral triangle is increasing at a rate of
5m/min, then the rate at which the area A of the triangle changes when s = 4m is

equal to A=¥3g2
\ dR _ 7 when s'=4 m.
(a) 10v/3 m?/ min . (correct)
(b) 5v/3 m?/min \ AR -8 a8 d_%
-——; - \‘ Al

(c) ?3 m?/ min : \E A
(d) §—\/§ m?/ min i

2 _ 10 B m {mif\

(e) 4v/3 m?/ min
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S 5% 13. A man 2 meters tall walks at a rate of 2.5 meters per second away from a light that

is 7 meters above the ground. At what rate is the tip of his shadow moving when
he is 5 meters from the base of the light?

(a) 3.5 meter per second (correct)
(b) 0.5 meter per second 31 b B gk

(c) 0.7 meter per second €

(d) 2.7 meter per second %’—E s 1 when X33
(e) 2.5 meter per second

le— z—]

-

- 3
%_ 2 o 92 . F2-Fx =S X =52 = Z:FX

&
-_ _C.\_f = %- Q}
R T B i i
— '1" T - --,E_ 2 —_— 2 is h‘ -
:TS-_::(QS) -".'S-""ro' I o (o /"
et 39
§3-3 | | . :
14. Newton’s Method is used to approximate a zero of the function f(z) = z°+z—3.

If we choose z; = 1, then zo =

)
(a')_ (correct)
g & ‘.ffh)
i Y
|
l 4?(!):'1'"'3""
© 3 FE0 g 1
i = = =) P 3% + 1
(d) 1 £ty ) | b
3 iy 237
(e) 5 _\

|
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~ # I+
$y.1l 15 The sum of the critical numbers of Doman 4 f 15 (a0 )

flz)=zvV4d—=x "
is equal to “)’{X) o ,3L (u-x) - (=9 _;’ Y-x_ - |

5 (q-xjy‘ [-% + Q)]

(a) 7 (correct)
®)8 -6 T-§x ]

© 3 ‘%x+*1

@ 5 T W

(e) 0 Lk -_‘;—‘xw[ — Q-2 ze

2 \)d}\'\ ' éomd\\h o\ F
=) x = :

SUm ‘.?‘)"4—\" :}

3t 33
p 16. On the closed interval [—2, 1], if

6>

r—2

fz) =

has an absolute maximum at the point (a,b), then b =

() 0 % (correct)
bl—6 o,F((x):é,‘w

(c) 48 (2-2)" : .
(d) -1 _c. i Ao MO W S I % 7‘—3
(e) 10 (x-2)* iy (x-1)

oy |
feyected dp They ove nek m E-2Y

-?(6)1 5 e YOS <+ (0,0l

=) bZG
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g; i1 17. Which one of the following functions can Rolle’s Theorem be applied to on the
interval [—1,1].

(a) f(z) =2+ sin(7wz)

(correct)
(b) f(:c)= |33'|—1—4 nek dil. & o € (Y1) ;) a Giner & x20
€ f@) =lz-2 5 £()=xFW
| (d) f(z) :_1_ - no} ceonts o oc[-H1)
| g 1 i & oel=H)
| € flx)=2-2% 5 Fw: -%35= ' "*
1 3 Yx
|
|
-;;H%
y.2 '
§ b 18. The value of ¢ that satisfies the Mean Value Theorem when applied to
f(z) = = i z on [1,4] is equal to
3 (correct)
(2)2 £/(K) _(xs)a-x:1  _ -§
c : ,_
L PNy - ) b Pkl e %=
@3 gl 0 R
Wi 5 - ok
| s o
(e) g < -4 = o ‘f (1 -3 4
(c-5)? 3
ST
N ~ - -E - e E‘
(c-s)* 3 ¥
z LT 0% Z
c (e et =k o
. C:S‘ C:3 ¢(\1"\)
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